JDM %3 — {EHRE
11 B 45 15 3% B2 T W 7 1 4 B

C AEEEE

)

O RBx
=[S s 20 25 \ 32 40 50 63 80 100
{EENEI wE R AL
fERRE TR
{E R NEE gfenGpa) | 1.5~ 7 (150 ~ 700) | 1~ 7 (100 ~ 700)
RAERRERSN kgflcm? (kpa) 9(900)
O M5 X 0.8P \ PT 1/8 PT 1/4 PT 3/8
ERIREEE < -5 ~ +60
BRERE SRS (FTRERFERTEMIMES — 7 S )
O EERETRR
oM -[] WMakE TRERY (IR ) igrea)
(EhEE RHAE 20‘25‘32‘40‘50‘63‘80‘100 20‘25‘32‘40‘50‘63‘80‘100
IR EITIZEE 102030405060 75 85~ 100 10 ~20 ~ 30 ~ 40 ~ 50 ~ 65 ~ 75 ~ 90

MEX D 1IREETTRAITHG  FREEHEBAE -

O T BTN SR
(aom ) (32 ) =x( 20 ) —

) — ( 7

(SITIZD

ELLEE

[ maiE | [ swgs |

| MBEEE |

JDM : fFHRHL

20 — @20 mm
25 — @25 mm
32 - @32 mm
40 — @40 mm
50 — @50 mm
63 — @63 mm
80 — @80 mm
100 — @100 mm

10 ~ 100 mm

HBREERYETIRR

B : BhimsbEF
ANEsE

© IFHERARIF

© JNFZEHEM B 7

3-1.52

RECHR ARAER
fESR55% (CS-9D)
fiE 25055 (CS-9B)
(2] pEays

1= 1ERMER

2 = 2fERFERS




JDM %3 — {EHRE
SMEERR

CHELIC PNEUMATIC

= m
CHTFEFRT (@) 30M o x = sT
UiE
B2
E A+ (2x7778)
Hy B 2x (C+758)
H F
E ‘ G N1 N1 N1
—
/ 3
s & E-D— s 3] fi-<p o1 e
Vi —— ] 4l — N 3-0
K-> \ ]
w L) ’
o i |
T Y =, | |1
P |
pa— M
© JDM @20 ~ @25 © JDM @32 ~ @100
D
Zl Al o
MR RERMETIEBESR P 3-1.52 FFRETRAITHNE  BREEHEBAE -
% R g2l
5T fLsk - B1 B2 D E F G| H | H K1 K2 L M N1
= o Alc|a]c
20 445 | 195 | 645 | 295 | 55 | 195 - 18 4 | 15| 13 | 14 | M4x0.7Px10 F |M6x1P 13 3 7.5
25 48.4 | 21.2 | 68.4 | 31.2 6 22 - 201 | 41 | 1.9 | 15 | 16 | M5x0.8Px12 E |M8x1.25P 17 3 8
32 55 24 75 34 7 24 50 | 207 | 3.7 | 33 | 16 | 17 | M6x1Px14 S® |[M10x1.25P | 22 3 9
40 60 | 265 | 80 | 365 7 34 58 | 307 | 37 | 33 | 25 | 27 | M8x1.25Px14 E |M14x1.5P 28 3 10
50 66.2 | 28.6 | 86.2 | 38.6 9 36 71 | 321 | 51| 39 | 25 | 27 | M10x1.5Px15 ;F |M18x1.5P 38 3 | 1085
63 735 | 325 | 935 | 425 | 85 | 355 | 845 | 31.6 | 46 | 39 | 25 | 27 | M10x1.5Px15 ;% |M18x1.5P 40 3 11
80 93.3 | 41.3 | 1133 | 51.3 | 10.7 | 43.7 | 104 | 387 | 57 | 5 | 30 | 33 | M14x1.5Px20 ;% |M22x1.5P 45 4 13
100 99.3 | 453 | 119.3 | 55.3 | 8.7 41.7 | 124 | 38.7 | 5.7 3 30 | 33 | M16x2.0Px20 ;E |[M22x1.5P 45 4 15
s
FTE " O P4 (BEIEFL) P1 P2 R S T1 \ W X Y
= (nm)
20 M5X0.8P I M5x0.8Px6 &AL @75 S 11 5 - 34 24 8 6 - -
25 M5X0.8P I M6x1Px8 & ; 17l 28x6 R 14 6 - 40 28 10 8 - -
32 PT 1/8 I M6x1Px8 i ; HE7L 28x6 S 14 6 6 44 34 12 10 15 13.6
40 PT 1/8 IUZF M8x1.25Px10 i ; 1:Fl @10x8 S 18 8 6 52 40 16 14 15 13.6
50 PT 1/4 IEF M8x1.25Px10 i ; 117l @11x8.5 S 18.5 8.5 9 62 48 20 17 21.6 19
63 PT 1/4 U M8x1.25Px10 iR ; A7l @11x8.5 3 18.5 8.5 9.5 75 60 20 17 235 | 205
80 PT 3/8 I M12x1.75Px12 i ; 27l @14x105 R 225 | 105 10 94 74 25 22 27.6 25
100 PT 3/8 I M14x2Px15 7L 218.5x13  F 28 13 10 114 90 25 22 27.6 25

3-1.53

NA
BRI UL

NA2
INEY
[o kil

NB

Bk ERY
SR UL

NQ

ZELRE

MsI
B R BT

JD
AR

JG
AR
BRI

JTD
BiRE
HERH

JTE
bgid
RERIL

JCB
R
Lkl
(HIER)
JCE
JREERY
e

(AR

JE
bl



MEMO

3-1.54



	01.氣缸類-JDM-3-1.52
	02.氣缸類-JDM-3-1.53
	03.氣缸類-JDM-MEMO-3-1.54

